Fifth Grade Weekly Homework Sheet 24                                
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	Monday
	Wednesday

	1.
	*Careful (            

               34.78

               1.096

        +315.554
	*Careful (            

                 7.003

              -    0.89

	2.
	Simplify the answer.

 20 3/8  + 2 3/4  = _________
	Simplify.

5/25 = ___/___ =  ___/100 = ______%

	3.
	Which of the following is the least common multiple (LCM) that Christian can use to add three fractions with denominators of 6, 8, and 9?
A.   48           B.   54
C.   72           D.  144
	Which group shows all the numbers that are common factors of 36 and 48?
A   1, 2, 3, 4, 6
B   1, 2, 3, 4, 6, 12
C   1, 2, 3, 4, 6, 9, 12, 18
D   1, 2, 3, 4, 6, 8, 12, 16, 24

	4.
	Represent the amount, two fiftieths, 
in two different ways.
	I am a triangle with two 30 degree angles and one 120 degree angle. What might I look like? What kind of triangle am I?


	5.
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What are the coordinates for point S? 
	Hudson gave his friends clues about a number he was thinking of. He told them that when his number is doubled and added to 10, the result is 58. What is the number Hudson was thinking of?

	6.
	Model this division problem :



0.81 x 0.09
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	Liters

mL

2

2000

125.5

8.8



	7.
	Draw 4 lines of symmetry for the figure.


	Erin’s brother weighed 7 pounds 5 ounces when he was born. How many ounces did her brother weigh when he was born?



	Thursday
	Challenges

	Shade in the model for :

0.70 ÷ 0.10
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	**1.  A rectangular shaped garden has a length of 12.5 feet and width of 5.25 feet. What is the area of the garden?


	                              7 X 5 +1 = 42 -  ____

	*2.  In five days, how many times would a clock show 11:30?

	Caroline is making oatmeal cookies and needs to add 8/12 cup of sugar. Her measuring cup does not have 8/12 cup marked. What is an equivalent measure she could use that would be marked?

	

	Which sentence is true about decimal fractions?

A.  0.7 < 0.07

  B.  0.07 > 0.17

                             C.  0.7 = 7.0

D.  0.7 = 0.70
	****3.  A zookeeper is ordering food for the zebras. She knows that three zebras eat 25 pounds of hay every three days. How much hay should she order for 12 zebras to have enough hay for 30 days?
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	Which number is composite?
A.   2                     B.  57

                C. 79                     D.  31
	

	682 people are traveling to a concert.
 A shuttle bus can fit 44 people at a time. How many shuttle buses are needed for all the people? 


	

	Determine if the below statement is true or false. Provide a written explanation and an example to support your thinking. All squares have right angles, so any shape with right angles is a square. 

	**4.  What number is missing in 
         this sequence?

      12,  7,  2,    ___, -8
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